
MS9962
MS9963



2 |



3 |



4 |

Door

A Quantity
Of1

TopPaneL

B Quantity
Of1

Bottom panel

C Quantity
Of1

Middle panel

D Quantity
Of1

Left side panel

E Quantity
Of1

Right side panel

F Quantity
Of 2

Middle panel

G Quantity
Of 4

Middle panel

H Quantity
Of 4

Leg

I Quantity
Of1

Back panel

J Quantity
Of1

Back panel

K Quantity
Of1

Left Drawer Front

L Quantity
Of1

Right Drawer Front

M Quantity
Of 3

Drawer Front

N Quantity
Of 5

Left Drawer Side

O Quantity
Of 5

Right Drawer Side

P Quantity
Of 2

Drawer Back

Q Quantity
Of 3

Drawer Back

R Quantity
Of 2

Drawer Bottom

S Quantity
Of 3

Drawer Bottom

T Quantity
Of 2



5 |

1 Quantity
Of 24

CamBolt

2 Quantity
Of 24

Cam Lock

3 Quantity
Of 36

Wood Dowel (8*30)

4 Quantity
Of12

Cover

5 Quantity
Of 8

Bolt 1/4"*1-3/4"

6 Quantity
Of12

Bolt 1/4"*1-1/4"

7 Quantity
Of 20

Spring Washer

8 Quantity
Of 20

Flat Washer

9 Quantity

Of 40

Barrel Nut

10 Quantity

Of 40

Bolt 3/16"*1-1/2"

11 Quantity

Of5

Knob

12 Quantity

Of5

Bolt 5/32"*3/4"

13 Quantity

Of34

Screw 3*12mm

14 Quantity

Of 4

The slider

15 Quantity

Of 4

The slider

16 Quantity

Of 32

Screw 3*12mm

17 Quantity

Of 4

Bracket

18 Quantity

Of 4

Screw 3*12mm

19 Quantity

Of 4

Plastic Anchor

20 Quantity

Of 4

7mm x 38 mm

ScrewFor Wall

21 Quantity

Of 2

Tie

22 Quantity

Of16

Screw 3*12mm

23 Quantity

Of 2

Weight bearing block

23

x2

Anti-tipping hardware manufacturer's name and address：DONG GUAN XIN HENG YU HARDWARE CO.LTD

NO.58,DA TANG ROAD,DA LING SHAN TOWN,DONG GUAN CITY

Anti-tipping hardware date of manufacturer: 2019/8/25



6 |

D

1
12

2

2

1

3

3

1
1



7 |



8 |

C

2
2

3
3 1

1
2

3

3
1

1

F

F

4

4
4

31
13A

F

F

D

E



9 |

I

J

13

13

13

13

13

13

13

16

16 16

16

T
15

14

14

15

x 2



10 |

Please balance the door

by adjusting this screw

10

10

9

11

12

10

10

10

11

12
9

9

9

9

9

10

UP
DOWN



11 |

9
R

10

12

x 3



12 |

K



13 |



14 |

21



15 |

85 lbs<

15 lbs<

15 lbs<



16 |


